
1. What is the central theme of Anton Chekhov’s 
play, The Proposal?

 A. Romance and loyalty
 B. Quarrels over trivial matters and economic ties
 C. Patriotism and sacrifice
 D. Struggles of the working class  (B)
Explanation : The play revolves around a marriage 

proposal and the constant quarrels among 
characters over petty issues, reflecting the 
economic motives of wealthy families.

2. What is a significant custom in a Russian wedding 
as mentioned in the PDF?

 A. Bride throwing a bouquet
 B. Groom fighting for the bride’s hand
 C. Exchange of vows in a church
 D. Singing traditional hymns   (B)
Explanation : The groom has to climb stairs and 

answer riddles or pay cash to fetch the bride, a 
customary tradition in Russian weddings.

3. According to the play, why does Lomov believe he 
must marry?

 A. He is in love with Natalya.
 B. It is his family tradition.
 C. He needs stability due to his health issues.
 D. He wants to inherit more land.  (C)
Explanation : Lomov cites his age, health problems 

like palpitations, and the need for a regular life as 
reasons to marry.

4. What does Natalya do when she learns Lomov 
came to propose to her?

 A. She becomes furious and rejects him. 
 B. She demands an apology.
 C. She insists on bringing him back immediately.
 D. She ignores the news completely.  (C)
Explanation : Upon realizing Lomov came with a 

proposal, Natalya insists on fetching him back 
despite their earlier quarrels.

5. Which dispute arises between Natalya and Lomov 
in the play?

 A. Ownership of Oxen Meadows
 B. Quality of livestock
 C. Their ancestral backgrounds
 D. Wedding arrangements   (A)
Explanation : Natalya and Lomov argue about the 

ownership of Oxen Meadows, which each claims 
as their property, reflecting their quarrelsome 
nature.

6. What role do wedding toasts play in a Russian 
wedding?

 A. Symbolize the unity of families
 B. Provide entertainment
 C. Express good wishes to the couple
 D. Reflect ancient religious beliefs  (C)
Explanation : Wedding toasts involve friends or 

relatives wishing the couple well, followed by 
everyone raising their glasses in celebration.

7. What does the phrase “Oxen Meadows are mine!” 
signify in the play?

 A. Lomov’s attachment to his ancestral property
 B. A declaration of true love
 C. A metaphor for unity
 D. A minor plot device   (A)
Explanation : The phrase highlights Lomov's insistence 

on claiming his land, underscoring the theme of 
disputes over trivial issues in the play.

8. How are Russian and Indian wedding receptions 
similar, according to the chapter ?

 A. Both include religious rituals.
 B. Both involve speeches and fun activities.
 C. Both have strict traditional dress codes.
 D. Both avoid expenses on food and drink.  (B)
Explanation : In both cultures, receptions include 

speeches, contests, and activities to engage 
guests and celebrate the occasion.

9. How is the language in The Proposal distinctively 
Russian?
A. It uses casual slang throughout.
B. Characters use affectionate terms uncommon in 

English.
C. It includes multiple idiomatic phrases from 

Russian folklore.
D. It uses overly formal and poetic expressions.  (B)

Explanation : Terms like “my darling” or “my treasure” 
for adults, common in Russian culture, are rarely 
used in contemporary English plays.

10. What advice is suggested in the chapter for 
managing anger?

 A. Meditate regularly. B. Avoid situations 
causing anger and practice patience.

 C. Discuss feelings openly with others.
 D. Use anger to drive positive 

change.   (B)
Explanation : The text in the chapter  suggests 

avoiding anger-inducing situations and learn to 
manage temper calmly, highlighting the ill effects 
of anger.
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